AsﬁWEg&UZNV7®:¥W(mmEW)

i B i s B <3 4

FE5E H B (FEE o) FIiFEICR TS, — B> THRYET, (i H . &UXA/W%HFH ;tzé” RS E T, THER TSV, ) =
(AR, FNAIRER SOOI EVET, I A— I — SRR TSV, BES B0, BEEOTETT, ) T ARSI Porarrsar X
(20225 9B #E—E% BREHA 2022 & 9 B 4 H EHR AR AT BI26—3

TEL:026—256—9677
XA, R ERDHL S TR A— /LI, info@tke—g.jp FTTHAETEINY, [20224F 9A] <~X—v 1> FAX:026—256—0688

%3¢ A HerE KGO/ ) AR I AR 7 47 —HEREGHAH) Yy et

(097) A=) — HfEA SE A ) vy ey gy pr— B wrvel ool el e B 380, O<OPNTRHEREKERLTWOET,
4H &R PR3 VIK IFE2FEIRA| ¥ 319.6 | 1.00 -t 0[] 2&1&6 WIE=52.0% 10 3 450 |[~Y] <EEED>3R=12.0% * 10R=40.0% (FF4E=100[=])

100 [A] &1&15 fik#5E=84.0% 10 [1,500 GE > 3R=48.0% (FEE=721)
@7 A 1= X~y =2/ <CHEED C¥VIREET?) [[BF2—] <HFE>3R=27.0% + 10R=57.0% (KF4H=100[H])
@ =D @TERIEZL =7l @IREH =Y 22 A=52.0% GE>10R=16.0% (RpE=72L)
Q@R FFHO=41F |- F: M@ =01 @IEF=—ELH L) @I/NYY IHEFE=FX®@)1/1.0 Hkf5E=84.0% KX QBT 2 — TR =0fH )
74940 [PRE X2 FM—N AR A| | 3197 | 5.7 Resgi 0l 1&1&3 #IE]=14.0% 2 | 300 [[~V] <rEEi>2R=14.0% (Bki=1[l+5% (R 4ln])
GBI D/ Y4Y=1/99.9) [ 1A &1&1&15 | #kHi=100.0%| 10 [VI+TF3| 450 Gl >2R=86.0% (FRE=721)
CKREWRESE=1/3.5) XY =11 CERD VI1+ 9] 1,350 [3 [4FX D/ 4Y (1/99.9) 1RFZ, 4 TIV1+3R) (KpfE=1[a+5{5 B 4[0])
2 BONEEs | | WEVAT={8 | 2A=52.0% | CRVIREEFR0) |[HFa—] FFEDVI+HIR=100.0% (RFE=1 a7 R R40m)
@ = HTHIk ) @TIERIEZL =70l @IRE®=bHY XTAT=15M | Mkii=79.0% KEF K@/ YD IR, TV1+3R=40.0%] - [V1+9R=60.0% .,
Q@R FHXO=41F - T X@=41F| @IET=—MELiHt) @/ Y4V HF= F:X@)1/5.7 KET 2— R ME 1280, BRI SE (4[] )
SANKYO |P7¢— S — i fE#anE TRE2RRIR A 4H%E| 199.8 | 7.8 1+4 8| 1&1&5 #)[E1=100.0% 6 | 378 [[~V] <HeZE> L6R=74.0% (BpfE=1+F15584Mm])
UTART WA N clHpf | cPEAEIRE=R=1/419.6| RefEH | 7+4 Al &1&9&15 | Mk#i=100.0% F 10 | 1,500 HFfED> _F6R=25.5% (Wp4E=7[00+ 7 {51 4[A])
CRFFXI @R RE) 250+4 [E]|3¢~Y =118 CEE F7e |VI+E3] 339 RFAED T10R=0.5% (IRpfE=250[=]+7% %4 4[a])
CREE 24 13e=250 FHF L X LEAT=91 22 A=63.0% | F10c|V1+F5( 900 |[HEFa—] CREAIHEL 74T FrL Ahid)
X TAT=15f# | #kisi=82.0% V1+ 6] 1,050 RFED[VI4+3,V1+5,V1+61=50.0% (p4=7a]+5% {55y 4/a])
V1+7F9[ 1,500 RFRDOVI+9R=47.5% (RpE=T7[ml+7E R EE 4[a])
(X TVIREE Te) BEFE>VI+9R=2.5% (FFME=250n]+7 {5 4]0])
[EFa2—] CXTOEDIMEEFEVER)
RFED[VI+3,V1+5,V1+61=30.0% (Rp4E=7[a]+7 (% B 4[A])
@i 5 (1= <RFED[VI+3,V1+5,V1+61=20.0% (RFEZ=250[m+F% (R &7 4[R])
@R E =THFID4k) @NHRI =7l @IREH =5V RFED>V1I+9R=50.0% (RFEE=250[E1+F% (R 4[R])
O TR XD =41 - TR X@=11f) @IETF=—EHl @[/Y0 fER= (FXD)1/8.22 KET o — REFME ZXD, R T ESEE T+4[R] )
JFJ  |PLUFLITLAR JQX 1R S 411%| 14.7 | 1.075 - oMl 1&1&5 WE=2.1% | 3| T2 | 18 [[~Y] <> TF2R=2.1% (RejE=1E+7fE20mE)
WA ZER R KRB HEER=141.1) 1E] &1&3&T | Mkke=100.0% |4 10| 2 | 140 Gl TF2R=97.9% (HpE=721)
(5644 1] bt 36 [ul| 3%~ =118 <CFEED [BFa2—] <HEEDA2R=15.7% (Wpjt=1E+% R 20m)
e 5 1 [E] 3¢ TFAT=3{& #IR1=40.0% PR A5 2R=T79.6% (IRpfE=0or 1 [a]+7% £ 2[a])
@ H=THITHIE @NEKI=72L @REH =Y XEAT=T# HERE=97.0% Gl 2R=4.7% (KFE=0[A])
@R TFRHO =4 - RO =21H] @TAEIEHE/L] @/Y4Y ] fHEHE=1/1.075
A—— [PRAERIEN SA ZAST 4] 99.9 | 71.24 | STH 50 [\l 3&1&5&3 | #EI=100.0% 3 [ 300 [[~r] <#eZs> 1-3R=99.0% (ST HA=50[a])
(ST=50[=]#x) — 0Fl 1&1&10&15 | #k#E=100.0%| 10 | F5 | 500 <> F10R=1.0% (BB YR [ST=501=] |+ [ H:459,950[H] | )
@il A L= | 9,950 [\l 3%~ = 3@l CEED T 10 [ 1,500 [[#EF=2—) <HfeZ5>_E3R=50.0% (B ART50E=45%] - [10,000H]=5%])
O =THITHMAE @TEBRHEZE =/l @IREH =5HY ¥ EAT=10M | 22A=100.0% <> E5R=25.0% (B 500E=20%) « [10,000=]=5%] )
QRO =48] - THXN@=41H) @TET=—Ek) @YU ITeFE=7/L | TFTAT=I15 | #kE:=67.9% 75> T 10R=25.0% (FEY-RTST=50[a] |+ H#4E9,950[E] |)




X RPN, RRVERH DS TR AV, info@tke—g.jp TTTHELTZEY, [20224F 9A] <~<— 2>
58 H FE RKYOFER(/ ) AR AR T JENFHR 727 —VEREGA ) L o
oom| T wdi bl | T | | e | K HOR & kiEsk| Mok | RUR | HE L) Tl O Ol ol AL S
4R | Avr—. |PAEBAZF B~ 3 FE2FR G| M 99.9 | 1.00 |¥ih 84 [H 3&1&4&5 B1E1=0.2% 0 VI+2 | 170 [[~V]  <B#RD>1+42R=99.8% (i [X|fHEE=84[n])
B —oN—ar MI1 | @lEIgemdR|  OkFX=1/121.5) i 100 Bl &1&1&8 Mk#5E=95.0% V1+8 | 650 <R 1+2R=0.2% (RE4E=100[E])
0 [E]3%~Y =3{g <> | CRIVIR=1018 1 & Te) | [ ihig ] SR> V1+2R=77.0% (KE4E=100[H])
¥ EVAT=118 | 2¢A=50.0% <R D>V1+8R=13.0% (FEEE=1001H])
X TAT=8M Hk#E1=90% <% > 1+2R=10.0% (H4E=0[m])
(4 1] k% 299 [H] Hk#E2=95% [ EAZRUSH] (¥RUSHH D #93.4% T, EAZRUSHZEA)
AT 100 [A] <HFEE>V1+2R=82.0% (H4E=100[a])
<HFRE>VI+8R=13.0% (B§4H=100[x])
@ E =HHTHIHE) @TIHRAEZ | =72l @IRAE® =bb GEH >1+2R=5.0% (F#4E=0n])
ORAFHO=4) - FHXO@=01H] @TEF=—ELHL) @/IN4Y HeE=FXD)1/1.0 5 EATT95%HERE 1 235 . AL T90%HERE | ~D A 7 1T,
VYI4T (PEEX2Y—RIE GCAUF2FERE| [ 99.9 | 9.26 ek 1+4 [\ 1&1&5 #[E]=100.0% s FiE 3| 216 |[~V] <FEEDE _E3R=97.0% (FpkE=1[0+E4[m])
(FEfE) 16+4 [l  &2&3&9 | MkfE=100.0% ki 9| 648 NP E_9R=3.0% (IRfpsE=16E1+ R 74 [E])
(51 ] eV 299 [A][3%~ =11& CEES Vi TFVI+3| 246 |[FEFa—] HFEDOVIR+3R=80.0% (HriH=16[m]+{~FE4[H])
| 250 BIKTFVAT=3(8 | ZEA=44.9% | | |.o'| FV1+6| 462 <HFEE>VIRY6R=10.0% (IpeEi=16m]+{- 2 4Mm])
@ =T HITHIEE @TEMRIEZ =7l @TREH =5V ¥ _EAT=91E fk#55=89.8% TV1+9| 678 <HFAE>VIRYOR=10.0% (FE4E=16[n]+{%844[n])
Q@R FFHNO=4F - TF M@ =4(f) @TETF=—MEH ) @I/INYY HEFE= (FX©)1/10.21 (X TVIRIB0ME I & Te) BT = —(RFABEIZLY, W R SRS [+4[m])
EXF+ [PRUFHEY~F2202 bH | VHEST || 99.9 | 52.4 | STH 120 [7] 3&1&3&5 H1E1=20.0% o 2 200 [[~Y] <HfeZ5>2R=10.0% (STEHFK=120[a])
(eSS T=120[m]) ST 0 = 1&10 #k#5E=100.0% 10 | 1,000 <5 >2R=5.0% +10R=5.0%
@it 51 1= JEHE | 9,880 [l 3%~y =3{& CEED (TSTEHH=120[] ) + [FF4H9,880[1 |)
@R E=IHITHiEE @NERI=72L @IREH =HY |KEF 50 [A] 2% AN=53.5% <@ >2R=80.0% (HEE=50[m])
@R XD =41 - FFHN@=4H) @IEF=—EEWk) @I/NYY fR=71 Mk#9E=90.1% [EF=—] <HfEZ5>2R=95.0% +10R=5.0% (STEH&=120[x])
ZEYE [PATH K TORSA2 e —7 M| 89.8 | 39.9 |fEZ {10,000 o] 3&1&4 28 AN=33.3% 0 4 440 |[~Y] <HEZ5>4R=31.3% - 10R=2.0% (4=C, VAbyZ X 2[E])
JBB | 2l L—7 WpaE 25 [A] &1&11 HkfE=100.0% 10 | 1,100 GE>AR=66.7% (FEkE=251])
X~Y=3{a [VANy 7 X 2[E1RF] G EE T 2—=FFIOHhiEE)
M2 AE=11 <25 >4R=31.3% +10R=2.0% (£ T, VARyZ X 2[])
S >4R=66.7% (VAbyZ X 1]a])
[ JUZEONEFIS N ) (VA7 X 1[a]HF ] KBS 2— =X @hhi%)
@ =THITHHAL @TERTZ =/l @TREH =5HY <5 >4R=31.3% +10R=2.0% (4T, VAR X 2[])
O XN D=41H] - (K@ =48] @TEF2—HEiH] @YY IHER= (#KD)1/1.03 <G H>4R=66.7% (Kpig=25(m])
FYARGD|PFIRMUSEUM —MA  |#Z51—7| D] 319.68 | 68.62 - w |l 1&1&1&4 #MEl=17.1% 0 3 450 |[WEFEE] <FEZE> 10R=12.5% (FEY K =¥k [B]) SCRER T v A
BIRFEZ | @] 195.04 | 41.84 IR &3&15 AhAE=17.1% 10 [1,500 fEZE>3R=2.3% + 10R=2.3% (BHRHEZS) CRIB KAL)
(s {Rik#) | @) 187.24) 40.20 | ., 0 [~y =1&118 GEH>3R=AT.7% - 10R=35.2% (Hp4E=72L)
@ | 169.78 | 36.44 . 10,000 [] [T v 2] CRESR DML H)
®|159.84 | 34.31 <EZE>3R=2.3% +10R=14.8% (BEHK'=k[a]) XEERT v A
@557 L =FEH ®| 149.62 | 32.12 <GE T >3R=47.7% + 10R=35.2% (IH#4H=10,000[E]) 3¢GAROAD
@it RS R ) [GAROADH ] (3¢ & #K'=10,000[R]FRF4E )

@51 = TH I @RS =5H) @TREE) =7l

O D=4 - [HH@=4{H) @TAKIFMIL @T/NYY HeR=7L

e >3R=2.3% + 10R=14.8% (B H A=K [A]) X BEH T v A
GEE3R=47.7% +10R=35.2% (EpEE=721)




X RPN, RRVERH DS TR AV, info@tke—g.jp TTTHELTZEY, [20224F 9A] <~<— 3>
F5EH o RYDiERA/ ) TR o ZE AR T B9 —PERE(EA ) o o
ool 27 FeA iy T T T ¥ N e s e M %, O <OMIRBERREEL T ET,
11A
I8H | BAES |PAFEMRR with JHKHW [IFE2FIREG| B[ 99.9 | 14.4 5+4 Al 1&1&4 #I[AEI=100.0% T3 | 120 |[[~Y] <H#&E> F3R=50.0% + F5R=30.0% « F7R=10.0% + F10R=5.0%
V2 WP H [ 18+4 [B]]  &3&4&6 | MEKi=100.0% [s:@| N5 | 200 (B A= 5[a]+ IR 4[E])
(150deifE# A 1) 320+4 [E]|3%~Y =118 crrs | PO 77| 280 HEfT F10R=5.0% (BRI fE=320[8]+ B E4 4 1)
LiEz L] | kst 150 [|3¢ FFAT=4ME | 22 A=50% T10 | 400 |[FEFa—] <> 13R=30.0% * 25R=10.0% - E7R=10.0% +_[-10R=45.0%
CHrAEMERE L) | sk 320 [E|3% EBIAT=618 Hk#5i=81% 3 [ 180 BRI =T 18[ml+FR R E 4[A])
| el E£5 | 300 HFELD> 10R=5.0% (75 A4 =T 320[A]+FE (R4 4[A])
@ =T 4THIHE @IRRZ =7l @IREB =bb B0 17 | 420 BT 2 —(REAMEICEY, WHE RS 4
O HHD=4H] - XK@ =417 @IEF=—ELIH) @YUy fER= (K@) 1/10.21 10 | 600
1%y [PEHAEDOERES M2—K ZNAST | 4] 199.8 | 39.45 | STH 50 @ 2&2&1&5 | #IE=100.0% 3 324 ([~Y] <HfeZs>3R=45.0% +5R=25.0% - 10R=30.0%
YT596C chy (ST=54[01Hz5) | cHp4 759 [m] 1&12 Mk#E=100.0%| 9 5 540 (&C, MEYRST=50[0]#x ) + R 4l0])
(HTH9IEMR) | (cmeE=1/8,192) M~Y=28218 CEES 10 | 1,080 [[#EFa—] <ifeZ>3R=20.0% +5R=30.0% + 10R=50.0%
(XA L] | Wikt 596 [r] 72 \=75.0% (T, MEYRST=500m]15 | + 7R 40A])
@i i R == A AT — ] COTREMERFRT) | mrsds 759 [A] Mk#E=75.0%
@5 =T H %) @RI ) =bY GEFARIED ) @IRER) | =bhY
O HFRD=4H) - [HRO@ =48] @IEF=—EkiH] @/NYYIfER=/1




